
For installation help please call our Tech Support at 888-855-4621, or Email us at Service@AutoCustoms.com 

Running Board Installation Instructions 

81050 & 81051(1” Drop) 
 

Chevy Colorado 2015-Current                    

GMC Canyon 2015-Current 
 

 

 
 

Read all instructions before beginning installation. 

INSTALLATION PACKAGE  

Running Board         2 
Brackets  (Driver Front/ Passenger Rear)     4 
Brackets (Passenger Front/ Driver Rear)     4     
Bolt Pack (Boards & Brackets)      2 
 

Necessary Tools 

Combination wrench or sockets with 1/2”  
Safety glasses 
 

 

 

 
 
 

 
 

    

 

 

 

Step 1: Reference picture of bracket positions for later steps (Fig 1&2) 
 

   
 
 
Step 2: There are 4 locations each side of the vehicle as shown (Fig 3).  

Please remove all black plugs at each location. We will start on the driver 
side. 
 

 
 
 

 

 

 

 

 

 
Step 3: Install U-Nuts into the hole as shown. (Fig 4 & 5) 
 

      
   
 

Step 4: Please use (Fig 1 & 2) for reference.  Starting on the driver side 
front location use bracket shown (Driver Front/Passenger Rear). This 
bracket will be used on the first 3 bracket locations on the driver side.  The 
very rear bracket towards the bed will use the bracket shown (Passenger 
Front/Driver Rear).  Install using 5/16” bolts with washers. (Fig 6) 
 

 
 
 

Step 5: Now with everything installed.  Take a look at the board on your 
vehicle.  There is a lot of adjustment in the kit to get the board where you 
like them. Adjust boards in and out and side to side with the slots on the 
bracket where board mounts.  Adjust the front and rear brackets first and 
finish with the middle. Once the boards are in place to your liking, tighten 
all fasteners on the boards and brackets.  This will complete your 
installation.  Enjoy! 

 

 
 

Bolt Pack Brackets 
5/16”x ¾” Bolts     16 
1/4” USS Flat Washers                16 

5/16” U-Nuts            16 
 

Bolt Pack Running Boards 
5/16” x ¾” Hex Bolt                      16 

5/16” Serrated Flange Nut           16 

Fig 1 

Fig 3 

Remove black plugs 

 

Fig 4 

 

Driver Front 
Passenger Rear 

Fig 5 

 

Fig 6 

 

Fig 7 

 

Driver Side Shown 

 

Install with 5/16 

Bolt with washer 

 

Passenger Front 
Driver Rear 

Bracket bends face rear 

 

Bracket bend 

faces front 

 

Fig 2 


